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Introduction 

The degree to which a lesson achieves its goal is 

determined by its outcomes. Seeing, identifying, and 

measuring outcomes is not a simple didactic task. 

Typically, a set of questions, examples, and questions 

is used to determine the level of knowledge, skills, and 

competencies that cover a particular topic. interactive 

methods are a good help. An example of this is a quiz 

based on the following interactive method. 

The quiz is called "ASSISMENT" and consists 

of 4 stages: 

1) Test. 

2) Practical skills. 

3) Fill in the blanks. 

4) Symptom. 

There are 4 stages in the assimilation method. 

Initially, students are divided into 4 teams. Test 

samples will then be distributed. We give 2 minutes 

for each test and 10 minutes for 5 tests. 

1.Test samples: 

1- group 

1. According to the classical definition of 

probability, the probability of events in which 

experiments is found? 

A) The number of elementary events is limited 

and they are equally likely. 

B) The number of elementary events is infinite. 

C) The number of elementary events is equal to 

the number of experiments. 

D) Voluntary experiment. 

2. If A and A are opposite, which of the following 

relations is correct? 

A) 𝐴 ∙ A = A.         B ) 𝐴 + A = Ω.        C) 𝐴 + A = 𝐴.       

D) 𝐴 ∙ 𝐴 = Ω. 

3. If events A and B are independent and P (A) = 

0.7, P (B) = 0.5, find the probability of their sum? 

A) 1.1      B)0.3      C)0.85      D)5/6 

4. If P (A + B) = 0.9, P (B) = 0.3 are non-co-

occurring events, find P (A)? 

A)0.5         B)0.4       C)5/9       D)0.6 

5. Find the probability that not a single coat of 

arms will fall when throwing 5 coins? 

A)  
1

32
          B)

5

32
         C)

31

32
         D) 

1

5
 

 

2- to the group 

1. Which of the following properties is 

appropriate for the distribution function? 
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A) Continuous B) Growing C) Periodic D) 

Limited 

2. There are 5 identical balls numbered in the 

container, find the number of elements of Ω that 

correspond to the experiment of obtaining 3 of them 

in a row (non-repeated selection)? 

A)20       B)40      C)60      D)10 

3. How many shots were fired if the relative 

frequency of the number of shots fired at the target 

was 0.7 and the bullet did not hit the target 12 times? 

A)36       B)40       C)72      D)54 

4. Find the probability that one of the numbers is 

5, if it is known that the sum of the numbers obtained 

by throwing 2 cubes is a multiple of 7? 

A)1/3         B)3/7       C)1/7        D)1/5 

5. If A and 𝐴  are opposite events, which of the 

following is true? 

A)𝑃(𝐴 ∙ A) > 0.        B)𝑃(𝐴) ∙ 𝑃(𝐴) = 𝑃(𝐴 ∙ A).                  

C)𝑃(𝐴) = 𝑃(𝐴).             D)𝑃(𝐴) + 𝑃(𝐴) = 1 

 

3- to the group 

1. Two cards are drawn from a deck of 36 cards 

at risk. Find the probability that they are both salt? 

A)1/105       B)0.5       C)1/9        D)1/12 

2. The space of elementary events corresponding 

to the experience of throwing a coin twice… 

A)Ω = {𝑅𝐺, 𝐺𝐺, 𝑅𝑅, 𝐺𝑅}  B) Ω = {𝑅𝐺, 𝐺𝐺, 𝑅𝑅}                     

C) Ω = {𝐺𝐺, 𝑅𝑅}       D) Ω = {𝑅𝐺, 𝐺𝑅} 

3. In what range do the values of the distribution 

function change? 

A)[𝑎; 𝑏]       B)[0;1]      C)(0;1)        D)(0;2) 

4. How many different two-digit numbers can be 

formed from the given numbers 1, 2, 3, 4? 

A)24        B)12       C)8      D)4 

5. The probability of the first sniper hitting the 

target is 0.8 and that of the second is 0.6. Find the 

probability that one sniper hits the target when the 

snipers shoot at the target at the same time? 

A) 0,16       B)0,62       C)0,44         D)0,21 

 

4- to the group 

1. In what events was it first determined that the 

relative frequency is stable? 

A) Physicist and chemist         B) Chemist  

C) Demographics              D) physicist 

2. Let the game be thrown once. If A is a case of 

even number division and B is a case of division of 

three numbers without remainder, then P (A + B)? 

A)2/3       B) 5/6         C)1/6        D)1/2 

3. If the events A1, A2, A3 are independent and 

their probabilities are 0.3, 0.5 and 0.7, respectively. 

Find a chance to do at least one of them? 

A)0.85           B)0.896      C)0.8         D)0.9 

4. What are the possible values of some discrete 

numbers, and what is the quantity that takes them with 

certain probabilities? 

A) Discrete random variable;  

B) Singular random quantity; 

C) A continuous random quantity;  

D) Normal distribution. 

5. When one bullet is fired, the probability of the 

bullet hitting the target is 0.7. Find the probability that 

160 bullets hit the target when 200 bullets are fired? 

A)𝑃200(160) = 0.0004  

B) 𝑃200(160) = 0.0003 

C) 𝑃200(160) = 0.0005                         

D) 𝑃200(160) = 0.0006 

 

The test will be collected 10 minutes after 

distribution and grades will be announced. 

2 To test the practical skills, each team is given 

one example and they have to do it for 5 minutes. Of 

course, here are some examples where you need to 

know the theoretical knowledge of the subject to solve 

it. 

Examples of examples: 

To group 1 

A trainee must score at least 4 to take the test. If 

it is known that the trainee will get a grade of "5" with 

a probability of 0.3, a grade of "4" with a probability 

of 0.6, find the probability that the trainee will pass the 

"test". 

To group 2 

Two snipers fire one bullet at a time. The 

probability of hitting the target in one shot is 0.5 for 

the first sniper and 0.4 for the second sniper. If the 

discrete random quantity is the number of touches to 

the target, construct the law of distribution of the 

random variable X. 

To group 3 

Two game cubes are thrown. Construct the law 

of distribution of a random quantity X, which is the 

product of the points of two cubes. 

To group 4 

The two hunters fired at the rabbit at the same 

time, unrelated to each other. If at least one of the 

hunters hits the target, the rabbit is shot. Find the 

probability that the first hunter will shoot the rabbit if 

the probability of hitting the target is 0.8 and the 

second is 0.75. 

Solving these examples will be discussed and 

evaluated among the teams. 

3. When filling in the dots, the students in the 

group will have to find the missing words in the given 

definition or theorem. This is to test the mastery of the 

theoretical material. 

Distribution samples; 

1. If several experiments are performed, the 

probability of occurrence of an A event in each 

experiment does not depend on the results of the 

experiment, such experiments are called independent 

experiments. 

If in each of the n… experiments the probability 

of occurrence of event A is equal to p and the 

probability of non-occurrence is equal to q, then the 

probability of occurrence of A… m times is equal to 

the following expression: 
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𝑃𝑛(𝑚) = 𝐶𝑛
𝑚𝑝𝑚𝑞𝑛−𝑚      ,     𝑚 = 0,1 … 𝑛. 

2. If the probability of occurrence of event A in 

n… experiment is 0 <p <1, then in… large n 

𝑝𝑛(𝑚) ≈
1

√𝑛𝑝𝑞
∙

1

√2𝜋
∙ 𝑒−

𝑥2

2   ,     𝑥 =
𝑚 − 𝑛𝑝

√𝑛𝑝𝑞
 

The formula is appropriate. Here the function 

𝜑(𝑥) =
1

√2𝜋
∙ 𝑒−

𝑥2

2  is called the Gaussian function. 

3. If X t.m. 1,2,… m,… values 𝑝𝑚 = 𝑃{𝑋 =
𝑚} = 𝑞𝑚−1𝑝 

with t.m., which is distributed according to the 

geometric law. is called. Here 

𝑝 = 1 − 𝑞 ∈ (0,1). 

Examples of geometric laws… distributed t.m.s 

are: the number of products inspected before the 

release of poor quality product; the number of coins 

tossed before the coat of arms falls; the number of 

bullets fired before hitting the target, etc. 

4. Two-dimensional t.m. properties of the 

distribution function: 

1. The distribution function F (x, y) is limited. 

2. The function F (x, y) is not… for any argument. 

3. If any argument of the function F (x, y) is -∞ 

(in the sense of limit), then the function F (x, y) is equal 

to…. 

  4. If one argument of the function F (x, y) is + 

∞ (in the sense of limit), then 

𝐹(𝑥, +∞) = 𝐹1(x) = 𝐹𝑋(x)        ;             

𝐹(+∞, 𝑦) = 𝐹2(𝑦) = 𝐹𝑌(𝑦) 

4. If both arguments are + ∞ (in the sense of 

limit), then F (+ ∞, + ∞) = 1. 

5. The function F (x, y) is continuous from left 

to right on each…. 

You will be given a minute to do this. At the end 

of the time, it will be collected and the scores will be 

announced. 

4. The next stage is called a symptom. The text 

is distributed to the groups, who have to find out in 1 

minute which concept is in the text, depending on the 

symptoms. 

 

Examples of texts: 

1. It happens anytime, anywhere, it can happen 

by chance, it may not happen at all and vice versa it 

can happen, it can be unconnected or connected, it can 

be together or not together. 

What is the concept? 

2. It includes all the events in the experiment, the 

probability of which is 1, the letter of the Greek 

alphabet is used to denote it. 

What is the concept? 

3. U can take values of 0,1,2,… .n, sometimes 

1,2,…, m,… or values in the range (a, b), its relation 

to the probabilities of acceptance of a value is 

sometimes given in the table , sometimes given by a 

function. 

What is the concept? 

From the elements of a collection of 4.n 

elements, it is possible to create subdivisions that 

differ either in their order or composition, or differ 

only in the order of their elements, or differ in at least 

one element. 

What concepts are we talking about? 

When the time is up, the teams will give their 

answers. 

Before counting the total scores, everyone is 

asked an interesting but science-related question. 

Sample question: 

One student was writing a poem with good 

intentions, saying, "For now, I'm an amateur, and 

when I grow up, I'll be a great poet." One of her poems 

is titled "Lola". The first line of this poem is "Tulip 

opened in the steppe in Navbahor". The remaining 

lines are formed by substituting the words in line 1. 

What is the maximum number of lines in this poem? 

At the end of the quiz, the scores of the teams 

will be announced and the winning team will be 

awarded. During a quiz like this, students learn what 

they don’t know and reinforce what they do know. 
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